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5.5 Differentials/Estimating Change

Y= #x) mgeﬂj“ £@) + §'(a)(x-o)

—

g o £lot 20) = E(a)

l‘\
ML= (DX l

R T,

/7
AF = £la+srx) - fla) = Truwe le\a.nge
AL = £'(a)ox = Esimaded Choumge

(4% = flox)
‘AF"AL\ = QPPYOX(YY‘W"!UV\ ﬂfor

1. The function f(x)=x’+2x changes values when x changes from a to a + dx. Ifa = 0, dx = 0.1,

find: a) the true changghf.-F (O+ 0. D -£ (0) = o 2l
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¢) the approximation error
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2. The radius of a circle changes from 4 inches to 4.1 inches. Estimate the increase to the circle’s area
using dA. Then compare dA to the true change AA, and find the approximation error.
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